Page 1-32

000523-005

2012 XRT 1550/1550 SE and Carryall 295/295 SE Gasoline, Diesel and IntelliTach Vehicles



BENCH SEAT

ITEM PART NO. DESCRIPTION QTY n

12 3 4 n
1 1010434 BAITEI = PIASTIC cuuvvvurreerersinseensisesssssssss s ssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnssssssssssssssssnssssssssens 8
2 1011652 HINGE PIATE oottt sssssssss s sssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnsssssssssssssssssssssssnsess 2
3 1011697 Washer, 5/16 Flat .. 3

4 1014201 | SCrEW, 1/4-20 X 2.25 HEX CAP cceversesrsessessess s sessessssesses s sessossss sttt 3 n
5 1014415 Screw, 1/4-20 X 0.75 Torx Truss-Head 4
6 103456001 Seat Back, Bench, Gray 1
7 103456002 Seat Back, Bench, Black 1
8 103629101 Seat, Bench, Bottom, Blk 1
9 103629102 Seat, Bench, Bottom, Gray .......cccceeeeee. 1
10 103629501 Screw, 1/4-20 X .75 ShCS .reeeeerecerererenee 4
11 103831101 Cap, Seatback, Vented 1

2012 XRT 1550/1550 SE and Carryall 295/295 SE Gasoline, Diesel and IntelliTach Vehicles Page 1-33



